Turán number for pS_r *

Jian-Hua Yin, Yang Rao

Department of Math., College of Information Science and Technology, Hainan University, Haikou 570228, P.R. China E-mail: yinjh@hainu.edu.cn

Abstract. The Turán number ex(m,G) of the graph G is the maximum number of edges of an m-vertex simple graph having no G as a subgraph. A star S_r is the complete bipartite graph $K_{1,r}$ (or a tree with one internal vertex and r leaves) and pS_r denotes the disjoint union of p copies of S_r . A result of Lidický et al. (Electron. J. Combin. 20(2)(2013) P62) implies that $ex(m, pS_r) = \lfloor \frac{(m-p+1)(r-1)}{2} \rfloor + (p-1)m - \binom{p}{2}$ for m sufficiently large. In this paper, we give another proof and show that $ex(m, pS_r) = \lfloor \frac{(m-p+1)(r-1)}{2} \rfloor + (p-1)m - \binom{p}{2}$ for all $r \geq 1$, $p \geq 1$ and $m \geq \frac{1}{2}r^2p(p-1) + (p-2) + \max\{rp, r^2 + 2r\}$.

Keywords. Turán number, Disjoint copies, pSr.

1. Introduction

Graphs in this paper are finite and simple. Terms and notation not defined here are from [1]. Let S_r be the star on r+1 vertices, that is, the complete bipartite graph $K_{1,r}$ (or a tree with one internal vertex and r leaves). For graphs G and H, $G \cup H$ denotes the disjoint union of G and G and G and G denotes that G is a subgraph of G and G denotes the disjoint union of G copies of G, and G + H denotes the join of G and G and G and G by joining each vertex of G with each vertex of G and the degree of G in G in G induced by G in G in G induced by G is denoted by G in G induced by G is denoted by G in G induced by G is denoted by G induced by G is denoted by G induced by G induced by G is denoted by G induced G induced by G induced G induce

The Turán number ex(m, G) of the graph G is the maximum number of edges of an m-vertex simple graph having no G as a subgraph. Let

^{*}Natural Science Foundation of Hainan Province for Innovative Research Team (No. 2016CXTD004).

 $H_{ex}(m,G)$ denote a graph on m vertices with ex(m,G) edges not containing G. We call this graph an extremal graph for G. Let $T_r(m)$ denote the complete r-partite graph on m vertices in which all parts are as equal in size as possible. Turán [5] determined the value $ex(m,K_{r+1})$ and showed that $T_r(m)$ is the unique extremal graph for K_{r+1} , where K_{r+1} is the complete graph on r+1 vertices. Turán's theorem is regarded as the basis of a significant branch of graph theory known as extremal graph theory. It was shown by Simonovits [4] that if m is sufficiently large then $K_{p-1}+T_r(m-p+1)$ is the unique extremal graph for pK_{r+1} . Gorgol [2] further considered the Turán number for p disjoint copies of any connected graph G and gave a lower bound for ex(m,pG) by simply counting the number of edges of the graphs $H_{ex}(m-pn+1,G) \cup K_{pn-1}$ and $H_{ex}(m-p+1,G) + K_{p-1}$ which do not contain pG.

Theorem 1.1 [2] Let G be an arbitrary connected graph on n vertices, p be an arbitrary positive integer and m be an integer such that $m \ge pn$. Then $ex(m, pG) \ge \max\{ex(m-pn+1, G) + \binom{pn-1}{2}, ex(m-p+1, G) + (p-1)m - \binom{p}{2}\}$.

Lidický et al. [3] investigated the Turán number for a star forest. Their result implies that $ex(m, pS_r) = \lfloor \frac{(m-p+1)(r-1)}{2} \rfloor + (p-1)m - \binom{p}{2}$ for m sufficiently large. Lidický et al. [3] also pointed out that they make no attempt to minimize the bound on m in their proof. In this paper, we present another proof of $ex(m, pS_r) = \lfloor \frac{(m-p+1)(r-1)}{2} \rfloor + (p-1)m - \binom{p}{2}$ and give a lower bound on m. That is the following Theorem 1.2.

Theorem 1.2 If $m \ge \frac{1}{2}r^2p(p-1) + p - 2 + \max\{rp, r^2 + 2r\}$, then $ex(m, pS_r) = \lfloor \frac{(m-p+1)(r-1)}{2} \rfloor + (p-1)m - \binom{p}{2}$.

2. Proof of Theorem 1.2

The lower bound follows from $ex(m,S_r)=\lfloor\frac{m(r-1)}{2}\rfloor$ and Theorem 1.1. To show the upper bound, we consider an arbitrary graph G on m vertices with $\lfloor\frac{(m-p+1)(r-1)}{2}\rfloor+(p-1)m-\binom{p}{2}+1$ edges, where $m\geq \frac{1}{2}r^2p(p-1)+p-2+\max\{rp,r^2+2r\}$. We use induction on p to show that $pS_r\subseteq G$. If p=1, then $|E(G)|=\lfloor\frac{m(r-1)}{2}\rfloor+1$, and so $S_r\subseteq G$. Assume that $p\geq 2$. Since $m\geq \frac{1}{2}r^2p(p-1)+p-2+\max\{rp,r^2+2r\}\geq \frac{1}{2}r^2(p-1)(p-2)+(p-1)-2+\max\{r(p-1),r^2+2r\}$ and $\lfloor\frac{(m-p+1)(r-1)}{2}\rfloor+(p-1)m-\binom{p}{2}+1\geq \lfloor\frac{(m-(p-1)+1)(r-1)}{2}\rfloor+((p-1)-1)m-\binom{p-1}{2}+1$, by the induction hypothesis, we have that $(p-1)S_r\subseteq G$. Let $V((p-1)S_r)=\{v_{10},v_{11},\ldots,v_{1r},v_{20},v_{21},\ldots,v_{2r},\ldots,v_{(p-1)0},v_{(p-1)1},\ldots,v_{(p-1)0}v_{(p-1)r}\}$ and $E((p-1)S_r)=\{v_{10}v_{11},\ldots,v_{10}v_{1r},v_{20}v_{21},\ldots,v_{20}v_{2r},\ldots,v_{(p-1)0}v_{(p-1)1},\ldots,v_{(p-1)0}v_{(p-1)r}\}$. Denote $H=G[V((p-1)S_r)]$ and H'=G-H. To the contrary, we assume that G contains no pS_r as a subgraph.

Claim 1. $|E(H')| \leq \lfloor \frac{(m-(p-1)(r+1))(r-1)}{2} \rfloor$.

Proof of Claim 1. If $|E(H')| > \lfloor \frac{(m-(p-1)(r+1))(r-1)}{2} \rfloor$, then H' contains an S_r , implying that $pS_r \subseteq G$, a contradiction to our assumption. \square

Claim 2. For each $i \in \{1, 2, ..., p-1\}$, there exists one vertex $x \in \{v_{i0}, v_{i1}, ..., v_{ir}\}$ with $|N_{H'}(x)| \ge pr$ and $|N_{H'}(y)| \le r-1$ for $y \in \{v_{i0}, v_{i1}, ..., v_{ir}\} \setminus \{x\}$.

Proof of Claim 2. If there exists an $i \in \{1, 2, \ldots, p-1\}$ such that there exist $x, y \in \{v_{i0}, v_{i1}, \ldots, v_{ir}\}$ with $|N_{H'}(x)| \geq 2r$ and $|N_{H'}(y)| \geq r$, then $pS_r \subseteq G$, a contradiction. Hence for each $i \in \{1, 2, \ldots, p-1\}$, we have that (i) there exists one vertex $x \in \{v_{i0}, v_{i1}, \ldots, v_{ir}\}$ with $|N_{H'}(x)| \geq 2r$ and $|N_{H'}(y)| \leq r-1$ for $y \in \{v_{i0}, v_{i1}, \ldots, v_{ir}\} \setminus \{x\}$, or (ii) $|N_{H'}(z)| \leq 2r-1$ for $z \in \{v_{i0}, v_{i1}, \ldots, v_{ir}\}$. It follows from $m \geq \frac{1}{2}r^2p(p-1)+p-2+\max\{rp, r^2+2r\} \geq (r+1)p+r^2+r-2$ that

$$\sum_{j=0}^{r} |N_{H'}(v_{ij})| \leq \max\{m - (p-1)(r+1) + r(r-1), (r+1)(2r-1)\}\$$

$$= m - (p-1)(r+1) + r(r-1)$$

$$= m - p(r+1) + r^2 + 1$$

for each $i \in \{1, 2, ..., p-1\}$. If there exists an $k \in \{1, 2, ..., p-1\}$ such that $|N_{H'}(z)| \leq 2r-1$ for $z \in \{v_{k0}, v_{k1}, ..., v_{kr}\}$, by Claim 1 and $m \geq \frac{1}{2}r^2p(p-1)+p-2+\max\{rp, r^2+2r\}$, then

$$\begin{split} |E(G)| &= |E(H)| + \sum_{i=1}^{p-1} \sum_{j=0}^{r} |N_{H'}(v_{ij})| + |E(H')| \\ &\leq \frac{(p(r+1)-r-1)(p(r+1)-r-2)}{2} + (p-2)(m-p(r+1)+r^2+1) \\ &+ (r+1)(2r-1) + \lfloor \frac{(m-(p-1)(r+1))(r-1)}{2} \rfloor \\ &= \lfloor \frac{(m-p+1)(r-1)}{2} \rfloor + (p-1)m - \binom{p}{2} - m \\ &+ \frac{(p(r+1)-r-1)(p(r+1)-r-2)}{2} - (p-2)(p(r+1)) \\ &+ (p-2)(r^2+1) + (r+1)(2r-1) - \frac{(p-1)r(r-1)}{2} + \binom{p}{2} \\ &= \lfloor \frac{(m-p+1)(r-1)}{2} \rfloor + (p-1)m - \binom{p}{2} - m + \frac{1}{2}r^2p(p-1) \\ &+ p-2+r^2+2r \\ &\leq \lfloor \frac{(m-p+1)(r-1)}{2} \rfloor + (p-1)m - \binom{p}{2}, \end{split}$$

a contradiction to $|E(G)| = \lfloor \frac{(m-p+1)(r-1)}{2} \rfloor + (p-1)m - \binom{p}{2} + 1$. Thus for each $i \in \{1, 2, \dots, p-1\}$, there exists one vertex $x \in \{v_{i0}, v_{i1}, \dots, v_{ir}\}$ with $|N_{H'}(x)| \geq 2r$ and $|N_{H'}(y)| \leq r-1$ for $y \in \{v_{i0}, v_{i1}, \dots, v_{ir}\} \setminus \{x\}$. If there exists an $k \in \{1, 2, \dots, p-1\}$ such that there exists one vertex $x \in \{v_{k0}, v_{k1}, \dots, v_{kr}\}$ with $2r \leq |N_{H'}(x)| \leq pr-1$ and $|N_{H'}(y)| \leq r-1$ for $y \in \{v_{k0}, v_{k1}, \dots, v_{kr}\} \setminus \{x\}$, by Claim 1 and $m \geq \frac{1}{2}r^2p(p-1)+p-2+1$

 $\max\{rp, r^2 + 2r\}$, then

$$\begin{split} |E(G)| &= |E(H)| + \sum_{i=1}^{p-1} \sum_{j=0}^{r} |N_{H'}(v_{ij})| + |E(H')| \\ &\leq \frac{(p(r+1)-r-1)(p(r+1)-r-2)}{2} + (p-2)(m-p(r+1)+r^2+1) \\ &+ (pr-1+r(r-1)) + \lfloor \frac{(m-(p-1)(r+1))(r-1)}{2} \rfloor \\ &= \lfloor \frac{(m-p+1)(r-1)}{2} \rfloor + (p-1)m - \binom{p}{2} - m \\ &+ \frac{(p(r+1)-r-1)(p(r+1)-r-2)}{2} - (p-2)(p(r+1)) \\ &+ (p-2)(r^2+1) + (pr-1+r(r-1)) - \frac{(p-1)r(r-1)}{2} + \binom{p}{2} \\ &= \lfloor \frac{(m-p+1)(r-1)}{2} \rfloor + (p-1)m - \binom{p}{2} - m + \frac{1}{2}r^2p(p-1) \\ &+ p-2+rp \\ &\leq \lfloor \frac{(m-p+1)(r-1)}{2} \rfloor + (p-1)m - \binom{p}{2}, \end{split}$$

a contradiction. This completes the proof of Claim 2.

Denote $U = \{x | x \in V((p-1)S_r) \text{ and } |N_{H'}(x)| \geq pr \}$ and $W = V((p-1)S_r) \setminus U$. By Claim 2, |U| = p-1, |W| = (p-1)r and $|N_{H'}(y)| \leq r-1$ for $y \in W$. If there exists one vertex $z \in V(H')$ such that $|N_{G[W]}(z)| \geq r$, then by $|N_{H'}(u) \setminus \{z\}| \geq pr-1 \geq (p-1)r$ for $u \in U$, we can find p disjoint copies of S_r in G, a contradiction. Hence $|N_{G[W]}(y)| \leq r-1$ for $y \in V(H')$. For $0 \leq i \leq r-1$, we denote $X_i = \{y | y \in W \text{ and } |N_{H'}(y)| = i\}$, $X'_i = \{y | y \in V(H') \text{ and } |N_{G[W]}(y)| = i\}$, $\ell_i = |X_i| \text{ and } \ell'_i = |X'_i|$. Then $\sum_{i=0}^{r-1} \ell_i = (p-1)r$, $\sum_{i=0}^{r-1} \ell'_i = m - (p-1)(r+1)$ and $\sum_{i=0}^{r-1} i\ell_i = \sum_{i=0}^{r-1} i\ell'_i$. Claim 3. For each $i \in \{0, \ldots, r-1\}$, we have that $d_{G[W]}(x) \leq r-i-1$ for $x \in X_i$ and $d_{H'}(y) \leq r-i-1$ for $y \in X'_i$.

Proof of Claim 3. If there exists one vertex $x \in X_i$ with $d_{G[W]}(x) \ge r-i$, let $N_{H'}(x) = \{x'_1, \ldots, x'_i\}$, then by $|N_{H'}(u) \setminus \{x'_1, \ldots, x'_i\}| \ge pr-i \ge (p-1)r$ for $u \in U$, we can find p disjoint copies of S_r in G, a contradiction. Assume that there exists one vertex $y \in X'_i$ with $d_{H'}(y) \ge r-i$. If i=0, then H' contains an S_r , implying that $pS_r \subseteq G$, a contradiction. If $i \ge 1$, let $y'_1, \ldots, y'_{r-i} \in N_{H'}(y)$, then by $|N_{H'}(u) \setminus \{y, y'_1, \ldots, y'_{r-i}\}| \ge pr-(r-i+1) \ge (p-1)r$ for $u \in U$, we can find p disjoint copies of S_r in G, a contradiction. This completes the proof of Claim 3. \square

By Claim 3, $\sum_{i=0}^{r-1} \ell_i = (p-1)r$ and $\sum_{i=0}^{r-1} \ell'_i = m - (p-1)(r+1)$, we have that

$$\begin{split} |E(H)| &= |E(G[U])| + e_G(G[U], G[W]) + |E(G[W])| \\ &\leq {p-1 \choose 2} + (p-1)(p-1)r + \lfloor \frac{\sum_{i=0}^{r-1} (r-i-1)\ell_i}{2} \rfloor \\ &= {p-1 \choose 2} + r(p-1)^2 + \frac{r(r-1)(p-1)}{2} + \lfloor \frac{-\sum_{i=0}^{r-1} i\ell_i}{2} \rfloor, \\ e_G(H, H') &= e_G(G[U], H') + e_G(G[W], H') \\ &\leq (p-1)(m - (p-1)(r+1)) + \sum_{i=0}^{r-1} i\ell_i \\ &= (p-1)m - (r+1)(p-1)^2 + \sum_{i=0}^{r-1} i\ell_i \end{split}$$

and
$$|E(H')| \le \lfloor \frac{\sum_{i=0}^{r-1} (r-i-1)\ell'_i}{2} \rfloor = \lfloor \frac{(m-p+1)(r-1) - \sum_{i=0}^{r-1} i\ell'_i}{2} \rfloor - \frac{r(r-1)(p-1)}{2}$$
. Denote $\sum_{i=0}^{r-1} i\ell_i = \sum_{i=0}^{r-1} i\ell'_i = \ell$. Thus,

$$\begin{split} |E(G)| &= |E(H)| + e_G(H, H') + |E(H')| \\ &\leq \lfloor \frac{(m-p+1)(r-1) - \sum_{i=0}^{r-1} i\ell_i'}{2} \rfloor + (p-1)m - \binom{p}{2} \\ &+ (\binom{p}{2} + \binom{p-1}{2}) + \lfloor \frac{-\sum_{i=0}^{r-1} i\ell_i}{2} \rfloor - (p-1)^2 + \sum_{i=0}^{r-1} i\ell_i) \\ &= \lfloor \frac{(m-p+1)(r-1) - \sum_{i=0}^{r-1} i\ell_i'}{2} \rfloor + (p-1)m - \binom{p}{2} \\ &+ (\lfloor \frac{-\sum_{i=0}^{r-1} i\ell_i}{2} \rfloor + \sum_{i=0}^{r-1} i\ell_i) \\ &= \lfloor \frac{(m-p+1)(r-1) - \ell}{2} \rfloor + (p-1)m - \binom{p}{2} + (\lfloor \frac{-\ell}{2} \rfloor + \ell). \end{split}$$

If ℓ is even, then

$$|E(G)| \leq \lfloor \frac{(m-p+1)(r-1)-\ell}{2} \rfloor + (p-1)m - \binom{p}{2} + (\lfloor \frac{-\ell}{2} \rfloor + \ell)$$

$$= \lfloor \frac{(m-p+1)(r-1)}{2} \rfloor - \frac{\ell}{2} + (p-1)m - \binom{p}{2} + (-\frac{\ell}{2} + \ell)$$

$$= \lfloor \frac{(m-p+1)(r-1)}{2} \rfloor + (p-1)m - \binom{p}{2}, \text{ a contradiction.}$$

Assume that ℓ is odd. If (m-p+1)(r-1) is even, then

$$\begin{array}{ll} |E(G)| & \leq & \lfloor \frac{(m-p+1)(r-1)-\ell}{2} \rfloor + (p-1)m - \binom{p}{2} + (\lfloor \frac{-\ell}{2} \rfloor + \ell) \\ & = & \lfloor \frac{(m-p+1)(r-1)}{2} \rfloor - \frac{\ell+1}{2} + (p-1)m - \binom{p}{2} + (-\frac{\ell+1}{2} + \ell) \\ & = & \lfloor \frac{(m-p+1)(r-1)}{2} \rfloor + (p-1)m - \binom{p}{2} - 1, \text{ a contradiction.} \end{array}$$

If (m-p+1)(r-1) is odd, then

$$\begin{array}{ll} |E(G)| & \leq \lfloor & \frac{(m-p+1)(r-1)-\ell}{2} \rfloor + (p-1)m - \binom{p}{2} + (\lfloor \frac{-\ell}{2} \rfloor + \ell) \\ & = & \lfloor \frac{(m-p+1)(r-1)}{2} \rfloor - \frac{\ell-1}{2} + (p-1)m - \binom{p}{2} + (-\frac{\ell+1}{2} + \ell) \\ & = & \lfloor \frac{(m-p+1)(r-1)}{2} \rfloor + (p-1)m - \binom{p}{2}, \text{ a contradiction again.} \end{array}$$

This contradiction completes the proof of Theorem 1.2. \Box

References

- [1] J.A. Bondy and U.S.R. Murty, Graph Theory with Applications, North-Holland, New York, 1976.
- [2] I. Gorgol, Turán numbers for disjoint copies of graphs, *Graphs Combin.*, **27** (2011), 661-667.
- [3] B. Lidický, H. Liu and C. Palmer, On the Turán number of forests, *Electron. J. Combin.*, **20(2)** (2013), #P62.
- [4] M. Simonovits, A method for solving extremal problems in extremal graph theory. In: P. Erdős, G. Katona (eds.) Theory of Graphs, pp. 279-319. Academic Press, New York, 1968.
- [5] P. Turán, An extremal problem in graph theory (Hungarian), Mat. Fiz. Lapok, 48 (1941), 436-452.